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HEMES | REMOMAERVBLOIC (HEhe |HEnh | B | R |REMDOEDO L HOF A | EEmha |HEmC [E#Emo |
FERET 1ERA |DHhiE | ORIK | FIADER|DJRR BIEER [ LWTOK|#%EZD | F58H
—kLY (i) " OFR B, AR # (thOFE | HEZEE
=Y D AR & |BXEE | DthiES
#% (A) UTKED |ZEDE | DHIRT
BEQKR EORR | TBLE
1)
SWV=FER |SWV-FETER 108,000 203 [EE3] —REEHNELHSXKEE |JFE 4m [KE XE
KFEHIFER228%F56 1.2:1 RELT-FEihig E HR 1B
(B) - 1 W2 Tk 3.6km | ( 60, 200)
SV FEHER 98,000 165 [EE3] —REEODICEEE. ZE |dLE 5m [KE &R
KFEH)IFRT1374%6 1:1.2 MENRONIFHEEEN |ME HR 1{E=
(8) - 2 Wi 15 K 2.3km | ( 50, 100)
SV FEHER 103,000 158 [EE3] —REFENELESDEE |FER 4m [KE =)
KFERFEREBFAH696%F 106 1:1.2 Eihig i 1thE
(B) - 3 W2 Tk 1.4km | ( 60, 200)
SV FEHRRER 117,000 185 |[&% |F=E INBE—REEDODIZT  |FEE 3.6m|KE &R
KFIERTHEF2790%F5 1:1.2 N—FOEEISLRONGE |ThE HR 1thE
(8) - 4 W2 Eihig Tk 600m | ( 60, 200)
SWV-ERRER 111,000] 220 [EE3] THARONE—MBEE B 4m [KE BAXE
=fE6TH1247%6 1:1.5 b E AR 2hE
(B) -5 LS2 TK 1.2km | ( 60, 200)
SW-ERRER 118,000| 188 [EE3] KB TREBREL-BE|ILE 45m|KE &R
* T54417%22 1.2:1 D BELMEEHhiE E HR 1{E=E
(&) - 6| F5423—5] W2 TK 1.6km | ( 50, 100)
SW-ERER 114,000] 198 [EE3] —BEEORIT/PNIZBOT |EH  45m [KE BAXE
ERIET665%40 1:1.2 N—rELRRSNLEEHIE | hE HR T
(8) - 7 w2 Tk 900m | ( 60, 200)
SWVERER 42,100( 1,799 F=E A BN RIZ, BREE. |4 4m  [KE BAXE ([[FAX]
RFEFETFRIFE1707F 1:1.5 —MREENRET HEEH [fE
(8) -8 w2 15 2.7km | ( 60, 200)
SWV-ERER 164,000 342 |FER |2EME |TEBOEHEHM.RE [FE 11m |KE &R
RKFERFTFHEF1722F345 12 |E=E 5. BEMEEDELIAER |25 HR 252
() 5- 1 S2 CIGSES: 3] THEE | FK 70m | ( 60, 200)
SWV-FEL | S ETRIER 180,000 159 F=E HIRE—REEOPICEH (b 6m  [KE =
T E2E/T2TH40%E 124} 1:15 MNELNIREERELE |hE HZ 1EE
(&) - 1 W2 Eithig Tk 600m | ( 50, 100)
SLM-FEFRIER 223,000 209 [EE3] FHRE—REENZVRE [ 6m [KE T2
* +TEBET1TE39%10 1:2 BRELI{EEHhE i AR 2hE
(8) - 2 w2 Tk 450m | ( 60, 200)
SLV-FEFRIER 133,000] 180 [EE3] hRE—REEDENZEH [FFE 6m [KE =R
SHET1 TE362%10 1:1.2 ENRONIXEREARLLT: [HE 1ER
(8) - 3 W2 FEihiE Tk 1.5km | ( 60, 200)
SLV=FHIERE 148,000| 142 [EE= —EFEEZRLICIVY A [H 6m  |[KE RER
ERET2TH101%8 1:1.2 ENRZITONDEEHIE |thE HR 18
(8) - 4 LS3 Tk 350m | ( 60, 200)
SLM-FEFRIER 112,000| 158 [EE3] FIRE—REFEAELEA [ 46m [kE =R
ZRHET79%25 1:1.2 BB Eithig i AR 1thE
(B) -5 W2 TK 1.6km | ( 60, 200)
SLM-FEFRIER 172,000 187 F=E hRE—REE, 7/N—FE[AE 4m  [KE =R
ZRET1%&104+ 1:1.2 HEET HEEHE E HR 232
(B) -6 W2 TK 500m | ( 60, 200)
SLM-FEFIEER 146,000] 209 [EE3] FREO—REFENZVE |EH 4m [kE B
B#HET1 T H800%ES51 1:1 BEEARELI-(FEHhi HiE HR 1hE
(B) - 7 LS2 K 800m | ( 60, 200)
SWV=FEHRIER 174,000 147 F=E —REEDEH. XREE |FE  54m [KE XE
HiSIET2 TE55%1 1:2 ENRET S EEHE i HR 1E2
(B) - 8 W2 K 2.2km | ( 60, 200)
IWVFEFIER 150,000 179 F=E —MREE. TA—FENEE |FAE 4m |[KE R
AIRET1303F 24} 1:1.2 T HiEEHhiE THE HZ 1EE
(B -9 LS2 Tk 1.3km | ( 50, 100)
SWV-FEHRER 168,000 165 FE —MREFE. U IVEMNE |[dLE 6m [KE mE=
HAFAT2TES17%2 1:2 9 5 Etthig E HR #T
(&) -10 W2 K 600m | ( 60, 200)
SWVFEHRER 207,000 107 IEERZRIE /NSRS, SHRFTENEE (B 8m  |kE B
B#ERT2 T H789%3 1:1.5 |E ERASIN G 3 uhe i HR R
(8)5- 1 W2 TK 130m | ( 80, 200)
SLVFEFIER 165,000| 316 sBm. £ (EE BKBEBARE |dLR 20.2m[/KE =
BEET4T H16%25 115 |RHEAEE | _gare=sRETs (mw R
(B)5- 2 s3 BRER A b i K 630m | ( 60, 200)
SLVEFEHAER 270,000 198 ESREL |PEBOEHFEIESFHIE [BHE 10m [KE REAR
RHATO0E3 12 |BEMEE |BilSEREEihiE E HR 18
(8)5- 3 S3 K 160m | ( 60, 200)
SVEFRE[SVVEFEFTRER 226,000 233 FE FRE—RFENZVEERK [ 5m  [kE =
* KAET1 TE282%24 1:1 EEH#hI & HA 2FFE
(8) - 1 W2 Tk 1.2km | ( 60, 200)
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HEMES | REMORMAERVHBL VIS (HEho |HEHh | B | RE#ho |REMDOEDO TR A | B |HEmC [E#Emo | R
FERERT 1ERA |DHhiE | ORIK | FIADER|DJRR AIEER |2 LWTOK|B%EZD | HREEH
—kLE () i DI E.AR M O EE | FHEETE
=Y D AR R |A3GEE | OfthiiS
#% (A) VUTKED |FZEDE | DHIRT
BEQKR EORR | TBLE
1)
SWERKRER 266,000] 165 [EE3] HIRE—REESZLEE [ 45m |[KE XE
R AET4 T H824%6 2:1 H{EEihiE E AR 1B
(B) - 2 S2 Tk 1km | ( 60, 200)
SWVERKRER 210,000 218 [EE3] hEE—REFEDORICT  [JLFE 45m|kE XE
EORET1 TH237%&25 1.2:1 N—rELRR SN BEEHIE | hE HZR 1EE
(B) - 3 S2 Tk 1.5km | ( 60, 200)
SV FETKRERX 119,000 196 F= —REENZVLFEFEEH |[FF 4m  [KE =
=184 TH856%2 1:2 = E HX 2B
(B) - 4 W2 Tk 2.6km | ( 60, 200)
SWERKRER 214,000 218 [EE3] FIRBE—REFENELLES [ 4m  [kE RELE
FHAT1 THOOE 1:15 ERES T Eithig HE HR 18
(B) - 5 LS2 Tk 300m | ( 60, 200)
SWVERKRER 218,000 158 [EE3] —MREE. T/A—FEHNEE|ERE 5m  [KE FEEY
KEET3TEH195%2 1:1.5 T 5 Ethig HE HA g &2
(B) - 6 LS2 Tk 450m | ( 60, 200)
SV FERRER 286,000 119 [EE3] F/NRBE—REENELY |[FF 45m |[KE XE
ES8E1THE320%2 1:1 AEER i T HR &2
(8]) - 7 LS2 TK 1.2km | ( 60, 200)
SV FERKRER 266,000 109 [EE3] F/NREBE—REENELY |H 4m  |KE SLNV=FERH
K;BET2 THA443%124 1:2 SRR EHhig HE HR il 1R
(8) - 8 W2 Tk 750m | ( 60, 200)
SV FERKRER 146,000] 198 [EE3] FUNBBEO—RREFEOFIC |48 45m [kE XE
=#1TR1252%24 1:2 TIN—FERRONSEEN |HE HR 2rhE
(B) -9 W2 15 K 2.1km | ( 60, 200)
SV FERRER 1,380,000 371 [E53HE (PSRBOEHERAAELD |H  16m [KE XE
=EHT1 TH86&1 1:2.5 |#8FT Bui s BESEEME | BE HR FSER P4
(8)5- 1 SRCS8 Tk 300m | ( 80, 600)
SV FERKRER 236,000 102 AT |/MEIES. EEAELSEL |’ O 11m [KE XE
RET2TH136%4 1.2:1 i S EERHRE R Mg 258 HR SEREg SRS
(8)5- 2 S3 Tk 1.1km | ( 80, 200)
SV FERKRER 1,630,000 176 [EMERSE [BREEDES. BHFEIL [’ 20m |KkE XE
MART2 T B4%9 1.2 | MEL ISR i & HZ EEE:]
(8)5- 3 RC5 Tk 250m | ( 80, 400)
SV FERKRER 480,000 419 [ESFHE (PEBOIES. BB, FE|ILE 16m [KE SLNV=FEH
EHAT4TE13%2 1:1.2 | ENRET IRBEENE (82 HR HRiL (EESEHY)
(8)5- 4 S9 Tk 600m | ( 80, 400)
SWERKRER 847,000 167 [EHHEE (hSEOIEH. SHMEN |B 27m [KE XE
* KPET3 T BH59%1 1:1.2 |HFR % U BRATE Y 7 S sk 238 HR SE 30
(B)5- 5 RC7 TK 500m | ( 80, 400)
SWEFRBIVEFETRIZR 121,000 175 [EE3] —BEEHLBELAESDEE |Fm 4m  [KE t8
KFEBFIEE1225%F51 1:1 Eithig E HR 2hE
(B) -1 W2 TK 600m | ( 60, 200)
SWERREBR 119,000 132 [EE3] FUMRBO—RREENZL [ 3.8m|KE KHH
KFHEET1 TH637%6 1:1.2 FEhiE E HR 1{E=
(B) - 2 W2 K 1.4km | ( 50, 100)
SWFERREBR 99,000 216 F=E —REEDOEHIEHERS || 42m [KE JesEFn
RKFEHBFERTAF1325%6 2:1 haixEthi & HZA 1EH
(B) -3 W2 K 4.4km | ( 50, 100)
SWFERREBR 141,000 281 [EE3] FHREO—RBEENLZLOER [dLE 6m [KE BKE
HEAE6TH5S52%&10 1:1.2 EEARELI-(FEHhi i HR 1hE
(8) - 4 w2 Tk 950m | ( 60, 200)
SWERREBR 140,000 205 [EE3] FREO—BEENLZIME [ 6m [KE KHH
HAE7TE74%134 1:1.2 Eihig TE HZ 2thE
(B) -5 W2 K 1.1km | ( 60, 200)
SWFERREBR 117,000 195 [EE3] FHRE—REENZVRE [ERE Tm [KE KHH
* AFEPAFERARA1117%35 1:1.2 BRELI{EEHhiE E AR 1EE
(B) -6 LS2 K 1.3km | ( 50, 100)
SWERRIEBR 159,000 156 FE —fEFEDPIZT/N—F EE[FEE 6m [KE PN
HAE2THE39%14 1:1.5 HSELEONOIRERE |ha HR 1{EE
(&) - 7 W2 FOEEHI K 510m | ( 50, 100)
SWFERRIEBR 129,000| 163 FE EE—RIFTEDEFEMNT (I 4m [kE XFH
KIABT2TES11%&2 1:2 IN—IDRLNBEEHE | HR 1EH
(8) - 8 W2 TK 800m | ( 50, 100)
SWFERRIEBR 108,000 111 FE REEREL-SEEEH [BE 4.2m|KE KFnH
RFEEPAFEHFA787%F645 1:2 e & AR 1HhE
(8) -9 W2 TK 2.2km | ( 60, 200)
SWVFERRIEBR 158,000 165 FE —RIFEDORIZT/IN—FE [dLFE 6m [KE RRKE
RAESTH5S8%6 1:1.2 NRELNDEEHhi i HZR 2hE
(&) -10 W2 K 530m | ( 60, 200)




HEMES | REMORMAERVHBL VIS (HEho |HEHh | B | RE#ho |REMDOEDO TR A | B |HEmC [E#Emo | R
FEERT 1ERA |DHhiE | ORIK | FIADER|DJRR AIEER |2 LWTOK|B%EZD | HREEH
—kLE () i DI E.AR M O EE | FHEETE
=Y D AR & |BXERE | DthiES
#% (A) VUTKED |FZEDE | DHIRT
BiE0RREDORR | EELD
1)
SV -FRRIER 128,000 123 [EE3] FUMEBE—REEAZLE (I 4am  [kE Xi0H
KFEET2TH1572%18 1:15 27— AN DIEEH (fE HR 1thEs
(8) - 11 W2 15 Tk 680m | ( 60, 200)
SW=FEMRIER 117,000 120 F=E —REEDELATLIRE |FEAE  6m|KE KFNHA
REEPIAFARI62F12 1:1.5 BARELT-fEEihiE E HX 1E=H
(8) -12 W2 TK 1.7km | ( 50, 100)
SV =FER R[SV FERRRER 144,000 165 [BF [IFE FIRBE—REFENZIMEE BB 4m  [kE 5 BFARET
+ig2TH281%3 115 iz HE HX 1EE
(8) - 1|T Eig#2—6—3] W2 Tk 1.2km | ( 60, 100)
SWVzERRRR 247000 121 |&HK [F=E FUMRBEO—RREE. &R [ 4m  |[KE 58
HhE4TH240%54¢ 1.5:1 FEZDORET I EEME [hE HZ 1ER
(8) - 2|l B4 —17-7] W2 Tk 800m | ( 60, 200)
SWVzEHRRR 158,000] 981 JE5 ENES. EEENEET |F 44m [KE 5 BFARET
Lig4aTHA409%F 14 1.5:1 DERIRE S hig E& #£T
(8) - 3T kig4a—14—8] S1 Tk 950m | ( 60, 200)
SWVFERRRR 234,000 103 [EE3] FUMEBO—REENZL [ 4m  |[KE 5 BFAET
ARIEH4TE625%23 1.2:1 ERES (B ithig T AR 1thE
(8) - 4|TAKETEHA—22—9] W2 Tk 830m | ( 60, 200)
SWVERRRR 283,000 171 [EE3] FUMEBO—REEZEDZ [ 4m K& 5%
+%A4TB1140%7 1:1.2 LMEEHE i HR 1B
(8) - 5|T EZ&4—7—7) W2 Tk 550m | ( 60, 200)
SWVERRRRK 150,000| 166 F=E —REEDEMKEEE. [ 4m [KE 5 BFARET
ME2TH1546%5 1:15 MENRONSEEHIE THE HR 1MER
(8]) - 6| FE2—9—4) LS2 Tk 1.3km | ( 60, 200)
SWVERRRRK 288,000 119 (A2 |/E&ZE [/NFEIES. [EHGREED [ 20m [KE 58
T%&2TH787& 145 1:1.5 |E B SERENEYAVDOE | BE HZR bk}
(8)5- 1|IT F%&2—19—15] S3 E 3 b Tk 500m | ( 80, 200)
SWVERRRR 233,000 429 [EgaFRA [/NSEfES. HEMEFEEMNE |4 16m [KE HE5E
KFE6THEH806F74 121 |RMEE |ET DRiEEFE i E&E EEE
(B)5- 2|[TKF6—11—15] RC4 Tk 550m | ( 60, 200)
SWV=FER | SUDVETRRE 132,000| 165 [EE3] FUNRBEO—REEENZ | 4m  [kE E5E
BTA3TH206%F17 1:1.2 LME i HiE 1R
(8) - 1|{TET838—26—15] S2 Tk 2.3km | ( 60, 200)
SWVERRR 209,000| 106 = FUMEBE—AREE. £RE (48 4.3m |[KE FESRHF
HE3TH1049%1 1:15 EDHICEHENRET D [fE AR 1B
(8) - 2|TAE3—19—3] W2 fEE b Tk 450m | ( 60, 200)
ILVERRR 126,000] 131 F=E FUMRBO—REE. 7 4 5m [KE HE5E
KFERAGERFE TEHEE07E 14 115 N—FERRONDFEHE | hE HR 1ER2
(8) - 3 W2 Tk 2.9km | ( 60, 200)
IWVzERRR 135,000] 221 [EE3] FU/NBREO—REFEDIE |1 4m [kE E5E
KFLERARFHNE85F13 1.5:1 W TIR—FELRONDE |hE H= 1R
(8) - 4 LS2 Eihisk Tk 2.2km | ( 60, 200)
SWVERRR 73,600 230 [EE3] BHOPICEREFERVU— [ 45m [KkE EEI I
KFEFAFTEHH165F2 1:1.5 RAEENBTET Hithig E
(B) -5 W2 Tk 4.5km | ( 60, 200)
ILVERRR 186,000 65 [EE2] INREBE—RREEAZUVRE |EE  4m  |KE H5E
FEYE7 TEH683%14 1.2:1 BRELI{EEHhE FAE AR 18
(8) - 6|IFEFE7—6—11] W2 Tk 1.3km | ( 60, 200)
IWVETRR 132,000 79 [EE3] INREOBRFREENESL [FE  42m [KE 5 BFAET
RFEHFEME25%F23 1:1.2 ASEEthig HiE HR 2hE
(8) - 7 W3 Tk 2.3km | ( 60, 200)
SULVFEHF| SO ETHERE 202,000 210 F=E FRE—REENSUEER [t 41m [KE 5%
ERIZE6TES519%6 1:1 M EEHhE i AR 10hE
(8) - 1|TEKIFE6—21—13] LS2 TK 1.1km | ( 60, 200)
SWVFERTUHEX 337,000 245 [EE3] FREO—REEMNLEE [ 55m [KE [EREEE
HRE1TH16&10 1:15 B E i E AR 18
(&) - 2|T=B1—15—18] RC2 TK 900m | ( 60, 200)
IVERER 273,000| 1,120 BEh  |d/MEE—REE. v>Ya [dkE sm |KkE JeimFn
LHISTE138%F 1:3 VENERTHEEME  |haE HZ T
(8) - 3|MtAEfI5—11—184 EmEE | TK 700m | ( 60, 200)
INVEAHEIR 314,000] 165 F=E FEE—REFENZLEER [ 6m [KE JeimFn
* JLi#Efn1 TE39%2 1.5:1 i EHhis HiE HR 12 #p
(&) - 4|TdtiEfi1—5—12) W2 TK 400m | ( 60, 200)
SV -FERUHEIX 286,000] 293 FE TIEEO—MBEENZLEK [ 54m |kE Bl&7:E]
ER5TH41E1 1.2:1 EEARELI-{EEHhig E HR 12 #p
(B) - 5|IE#;’5—4—-15) W2 TK 900m | ( 60, 200)
SV -FERUHEIX 240,000 195 FE TIREO—RBEENZNF | 4m  |kE SEFN
AK2TH171%&S3 1:2 EHED R MEEHhi 8 AR 1B
(8]) - 6|TAKXR2—29—21] W2 TK 850m | ( 60, 200)
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FEERT 1ERA |DHhiE | ORIK | FIADER|DJRR AIEER |2 LWTOK|B%EZD | HREEH
—kLE () i DI E.AR M O EE | FHEETE
=Y D AR R |S3EE | oftiEs
#% (A) VUTKED |FZEDE | DHIRT
BiE0RREDORR | EELD
1)
SWVEATUHER 284,000 155 [EE3] FIRBE—REFENZLMEE [dLFE 5.4m|kE R

RiFET7%E 14 1:1.5 Hhig i AR 12

(8]) - 7|IE=Ar13—6] W2 Tk 900m | ( 60, 200)
SWVEAUHEIR 161,000 101 [EE3] FUMEBO—REEDIEZ, [H 4m [kE JeiEFn
HrBE1TE112%3 1:1 TIN—rELHADONDIETH |ThiE HR 2thE

(8) - 8|l #~I%1—40—23] W2 15 K 1.8km | ( 60, 200)
SLV=FETHAX 327,000 124 B8, BB (chfE O ERGFAEENZL [LER 16m [KE JbiEA
HB3ITHE215%1 151 [FAREE lEspn\orgihis EiE £ FSE i

(8)5- 1|E#3—18—23] RC6 TK 350m | ( 80, 400)
SWVEAUHER 473,000 330 ESRE |[TEOESH. EFELE [E  105m|kE SEFN
FET7THO%E 1.3 |#EER ARLNESHILERNDE |RE HR SEEA]

(8)5- 2|l RRT7—1—7] RC6 Fithig Tk 500m | ( 80, 400)
SWVEATUHEIR 325,000 239 EHFE |[PEBOEHFFAELNSL [H  16m |KE SEFD
fHET4ATH13%2 1:15 |EXEMEE |EE RV OB Ei& HR GSE 5

(8) 5- 3|{hAT4—2—22] RC6 TK 1.1km | ( 80, 400)
SUVERTHER 743,000 84 [E53E (PEOESH. BHAELDS B 18m [K&E SEFN
2T H150%5% 2.1 |FEFr BHil S E iy EE HR EEE]

(8)5- 4|[&2—4—-3] RC6 7 fE | FK 450m | ( 80, 400)
SWVFERTUHER 387,000 215 [E&hE [ES. B, v avE |l 12m [KE SEF

* fHET2 TE38%F1 1:1.5 | ¥R HRET SR E HR EEE]

(]) 5- 5|[{hET2—16—4 ] RC5 B fE | TK 700m | ( 80, 400)

SWVFER (W ETER 128,000] 115 [EE3] INRE—REEASELEAN | 48m [KE FESEHF
WARATE361F45 1:1 FEhiE E HA 1B

(8) - 1|T#ex4—6—2] W2 K 1.6km | ( 60, 200)

SNVEHERX 241,000 100 [EE3] INBE—REENELLEAR [ 43m [KE HECH
* BEFR4THS37%&2 1:1 FEihig HiE HR 1B

(8) - 2|IEEFHL4—9-5] W2 TK 800m | ( 60, 200)
SWVERRERX 198,000| 115 [EE3] —RBEE. T/—FEHIETE |FF 5.5m|KE HECHE
ghAR4THES1&244 1:1.2 T 5FEHhi T AR 18

(8) - 3|TfhAR4—16—14] W2 TK 1.4km | ( 60, 200)
SV-ETER 232,000 100 F=E FUMRBBO—REENSZL [ 5m  [KE HECH
BEFR6TH145%F445 1:15 FEihig HiE HR 1112

(8) - 4|TEEFL6—22—1] W2 Tk 1.1km | ( 60, 200)
SWVERRERX 140,000 112 [EE3] INBE—REEDEFMNZE [ 42m |KE R
KEMEFFILIHS4ET 1:15 HENERONDESHE |hE HR 1thE
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#% (A) VUTKED |FZEDE | DHIRT
BEQKR EORR | TBLE
1)
Bt 149,000 123 [EE3] INREO—REENEDY | 5.3m [KE =
FET447%2 115 ASEEHE E HZR 1hE
(B) - 15 W2 Tk 950m | ( 60, 200)
Bt 158,000] 165 [EE3] hRE—REEDIELNT |E 4m [KE =
hR1TH141%E10 1:15 N—RELRONBEEME |hHE HR 2hE
(8) -16|lfHR1-5-6] LS3 Tk 950m | ( 60, 200)
Bt 115,000 106 [EE3] INBRBIEE, 7/A—FOIEH | 4m [KE BB
BIFEPETFEAEMA82E2 1.5:1 MENRLNDBNDEE | HR 152
(8) - 17 W2 Hhig Tk 1.2km | ( 60, 200)
Bt 183,000] 472 [ INSEIEES. SRITEDEDM |F 11.6m [KE #H
SEARTFET415%1 1:1.5 SRR R 258 HX blif;}
(B)5- 1 RC3 200m | ( 80, 200)
B 216,000 146 JEEHZRE /MREIES. BFFAEL. ([T 1om |kE =
IKJIIET2143%F1 75 1112 |FEE  |FEESEFHIBLUSEES |hE HR GLES
(8)5- 2 S5 15 K 340m | ( 80, 400)
Ehnmh 284,000 437 B INTEIERE, RBIE. |RITEMN I 16m |KkE NELE
FET2TH1028%F 14} 1:1.2 B S ER AT S Hhig 238 HR [HE 3
() 5- 3|IEAT2—11—12] S2 EEE|TK 90m | ( 80, 400)
HEhnth 142,000| 853 [EgFE (KFABEAREE. O—FY 1 | 14m [KE NELRE
¥ET1TEH691&34} 111 |RMEE [FESNRETIRELL |BE H=Z T
(8)5- 4|[T%mr1—8—12] RC5 (QF::kc4 K 950m | ( 60, 200)
B 84,300| 4,161 BE HIREOTIE, BEENER [EH  16m |[/KE NELE
HHNMTB4654%F74 1:2 ELE-RERORBES (fmE H=R ITH
(8) 9- 1|IEH1—6—34. S2 15 K 3km | ( 60, 200)
A F il 118,000 96 [EE2 INRBEELETNA—FENR|EER 4m |[KE e
HEESTH1173%S8 1.5:1 T 5iEEHhE T AR 1thE
(8) - 1|I#E%E3—-11—6] LS2 TK 1.2km | ( 60, 200)
math 122,000] 140 FE FHEO—REENZVEX |FF 6m [KE HAITA
THATmE6TH15%11 1.2:1 EERALLI-EEMIE & HZ a 1hE
(B) - 2 W2 TK 1.7km | ( 60, 200)
AT 106,000 180 [EE3] FUNRBEO—REEENE | 4m  [kE P
RFERMFEEHE3I563E32 1:1.2 Bl SEEHhig i HZ 1E®
(8) - 3 LS2 Tk 1.3km | ( 60, 100)
AT 192,000 132 [EE3] FHRE—REENZVEE [FF 6m [KE ET RS
* HHASTHE6E4144 1:1 BARELT-{EEhhis E HR 1hE
(8) - 4 w2 Tk 600m | ( 60, 200)
AT 111,000 112 F=E FUMEBE—REEDIZ,. [dLFE 6m [KE s
HEKRKR2TBH17%&S3 1.2:1 EHA RSN B EihiE i HR 1thE
(B) -5 W2 TK 1.8km | ( 60, 150)
AT 149,000] 194 F=E hRE—REE. 7/N—FE|E 6m [kE f2%S
s 2THESE13 1.2:1 MRET 2EEHE E HR 1hE
(B) - 6 W2 TK 1.2km | ( 60, 200)
AT 140,000] 100 [EE3] IMNRE—REEORIZ. T [dLE 4m |[KE f2%S
FRILAT3TEH44%&10 1.2:1 N—rELRR SN LEEHIE | hE HR 1{EE
(B) - 7 W2 TK 900m | ( 60, 100)
WA 128,000 110 [EE3] INREL—REE.TVI3 |E 79m [KE f2%S
REH1TE101&84 1.5:1 DB MEEHIE T AR 1{EE
() - 8|TRER1—12—17] W2 Tk 1km | ( 60, 100)
At 107,000 106 [EE3] —RIEEHNBEIBSXEE [ 6m [KE BATFA
KEFEMEFIEMI67EFS50 1:1.2 RELT=-EEHIE i HZ =) 152
(B) -9 W2 TK 1.7km | ( 60, 200)
WA 116,000 120 F=E FUMEBO—REEDNSZL [EfE 4m [KE P
RKFELEABRTEIR63%E26 1:1 HEEEEHE HmiE HA 1{EH
(8) -10 W2 TK 1km | ( 60, 100)
AT 146,000 148 F=E FRE—REENZVRE [LFE 6m [KE |AITA
* FE&mE2TH20%2 1:1.2 BRELT-E Ehhi HE AR a 1thE
(8) - 11 W2 TK 850m | ( 60, 200)
Bam 127,000 151 FE —REFEDHNIULAVEF |FE 6m [KE #H
A EETOE 8 1:2 MRET SEEHIE i HR 1hE
() - 12|IE4EFRT9O—16 W2 TK 950m | ( 60, 200)
AT 200,000 246 F=E FIREO—REFESXEE |[H 6m [KE s
EHAa3TH1024%38 1:15 REEb Al ST E R E AR 1hE
(8) - 13|/ FE#a3—13—19] W2 TK 350m | ( 60, 200)
A 128,000 102 FE INEBFETEENZ L — |FHE 6m [KE [N
EAESTHS7%&7 1:15 A fEEthig T HZR 1{EE
(8) - 14 W2 TK 900m | ( 60, 100)
HATH 132,000 143 FE —REFEEHNELAESEE [ 6m [KE B4 2%
A3 THE14F 144} 1:1 BARELI{EEHhiE E HA 1hE
(8]) - 15|t 3—14—14) W2 TK 700m | ( 60, 200)
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HEMES | REMORMAERVHBL VIS (HEho |HEHh | B | RE#ho |REMDOEDO TR A | B |HEmC [E#Emo | R
FERERT 1ERA |DHhiE | ORIK | FIADER|DJRR AIEER |2 LWTOK|B%EZD | HREEH
—kLE () i DI E.AR M O EE | FHEETE
=Y D AR & |BXERE | DthiES
#% (A) VUTKED |FZEDE | DHIRT
BEQKR EORR | TBLE
1)
et 103,000 124 [EE3] —fBEE. T/S—FELAE It 6m  [KE s
RFEMmIKBETFHEI313%6 1:2 OB ROoNDIEEE [t HZR 1{EH
(B) - 16 W2 Tk 900m | ( 50, 100)
et 100,000 103 [EE3] INRE—RREEOM. 7 d 5m [K&E P
RFI+ERFRAB722%6 1.5:1 IR—rERONDIEEME  |hiE HR 1thE
(8) -17 W2 TK 1.5km | ( 60, 200)
et 119,000] 115 [EE3] —BEEEFOICT/S—FEDL 6m  [KE s
ER1TH7ES 1.2:1 HLELNIREREARELIAE | HZ 1thE
(8) - 18 W2 Eihig Tk 1.7km | ( 60, 200)
et 162,000] 160 [EE3] FHEE—REENZVRE [JLFE 6m [KE s
tZxZHBT2TH240%8 1:1.2 EIRch D Ehhiz E HR 1thE
(B) -19|(EAEFE—49—2) LS2 Tk 900m | ( 60, 200)
e 90,000 151 [EE3] hRE—REEELSRESN (& 6m [KE BAITFA
AFKEFEHS03E1 1:1.5 LREEBEHROQEEME  |fE HR =] 1hE
(B) - 20| (FAKE24—-5) W2 K 2.2km | ( 60, 150)
At 41500 459 [EE2 EBREESEHNEBLEAFIZ |FFE 6m |KE [2EA MEAR |
AFERFIRIERH2666%F 1 1:2 Bt 2 ROoNSFEME |hE
(8) - 21 W2 4km | ( 60, 200)
At 507,000 278 EX S CERE S = .  16m [KE (2R
FRERT655%2 1:1.5 MELISERATEEME  |[fE HR [EES
(8)5- 1|I#R4ERT14—20] RC6 Tk 100m | ( 80, 400)
AT 430,000( 998 [ESRE (hEBOEHEILLAES |BF  20m [KE ET R~
EHEA1TH20% 104+ 1.2:1 | i S\ g E HR EES
(B)5- 2 SRCS8 Tk 200m | ( 80, 400)
AT 161,000 181 BT [/MREO/NFIESEN EA | 7.3m [KE A
SELENERT2372%4 12 |E T AR OEEE E HR R
() 5- 3|IE4ENBET1—49] W2 TK 600m | ( 80, 200)
AT 229,000 256 [E¢RE ([ES. EHAAEILSEARSL |dLERaT  [KE s
s 2THA42F 11 1:3 |#FT i SVER AT 7 3 Hhigk LiS)mE AR ERAIILES |z
(8)5- 4|ltiins2—42—18] S5 TK b4 (80, 400)
AT 232,000 529 [E&H FUMRBOIES. RITED [ 20m |[KE BATFA
* FRSEITR10E 114 1:1 Ron 5 sihisg & AR = [LES
(B)5- 5 S3 TK 200m | ( 80, 400)
AT 118,000| 1,837 |&% |IE% FIREOREIEH. TiHA | 12m |[KE P
KEXKEFREAS53F 14 1:1 Bt SRR S i 558 H=R T
(BR)5- 6 S EEE|TK 700m | ( 60, 200)
Bk BRTh 247,000 168 [EE3] —fBEE. T/N—FENEE|E 8m  [KE i
F#5TH26%F14 1:1.2 T 5{FEHhig i AR 1hE #[h
(8) - 1|{rF#5—-34—11) LS2 Tk 750m | ( 60, 200)
BT 193,000 165 [EE3] FUMRBO—REE. T B Im |KE FH
$HET2 TH543%2 1:2 N—FEDQEETHEEM |hE HR 1R %[5
(8) - 2|T$5812—9—23 W2 = K 1.2km | ( 60, 200)
B 230,000 148 [EE3] —RBEE. T/S—FEIETE [dLE 9.5m|KE G
FET2T H6500%S8 1:1.5 I HiEEHhiE i HR 10hE #Lh
(8) - 3|IFlT2—25—5] W2 Tk 1km | ( 60, 200)
BT 542,000 199 [E&h. B (hEDOIES. RITEMNES |dtFE 18m [KE B
F#1 TE3%23 12 | | SERETD R £ HmiE HZ EEE:]
(8)5- 1|MFi#1—3—2) £ RC6 Tk 60m | ( 80, 400)
FH FHEM 229,000 189 F=E FE.T7NN—FENEETD I 6m [KE FH
* LtFH2TH30%S 1:2 FEihig HiE AR 2hE
(8) - 1|[T EFEH2—80—14) LS3 TK 1km | ( 60, 200)
FEM 252,000 156 [EE3] —fREE. 7/A—FFEDIFE [ 55m |[KE FHRLAR
AHET2TH1957%5 1:1.5 h. Tt Roh BEEHE | HR 1ER2
(8R) - 2|[AKBT2—16—23] W2 TK 300m | ( 60, 200)
FH™ 199,000 99 F=E —RIFEDORIZT/N—FD | 6m |KE FH
#HE2TH12%&20 1.2:1 BETSIREERELI-EE|HE 1hE
(8) - 3 w2 Hhig K 1.5km | ( 60, 200)
FEMf 162,000 165 FE FUMBBO—RREENAZL [dLFE 6m [KE FH
#B6TH7&9 1:1.2 fEEHhig E 18
(8) - 4 LS2 TK 2.6km | ( 60, 200)
FHM 215,000| 134 FE —RIFEDRIZT/IN—FEL|ILE 6m [KE FHAR
TFEH2TH18%14 1:15 Ron b i HR 118
(8]) - 5|T FFHE2—18—9] W3 TK 1.2km | ( 60, 200)
FHM 287,000 122 FE —fRiFE. v a7 dt  55m [KE FHAR
ABT1 TEH1397%&3 1.2:1 IN—ELEL U SYEEH @ HR 2thE
(8) - 6|[AHT1—22—19] S3 15 K 480m | ( 60, 200)
FEf 252,000] 178 IEEERE |DEROEHAREEEN [ 16m |KkE FHRLE
THI1 TE 13051 12 |E B SRR S s & HX bz}
(&) 5- 1| FRj1—9—25] S3 TK 1km | ( 80, 300)
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HEMES | REMORMAERVHBL VIS (HEho |HEHh | B | RE#ho |REMDOEDO TR A | B |HEmC [E#Emo | R
FERERT 1ERA |DHhiE | ORIK | FIADER|DJRR AIEER |2 LWTOK|B%EZD | HREEH
—kLE () i DI E.AR M O EE | FHEETE
=Y D AR R |A3GEE | OfthiiS
#% (A) VUTKED |FZEDE | DHIRT
BEQKR EORR | TBLE
1)
FHM 154,000 2,430 BE FUNMRIED IS, BEEED |f 64m [KE EE298
KFEELZKRFRHA1167F 145 1:1 4RSS ) HE = T%
(8)9- 1 S1 B & | FK 460m | ( 60, 200)
FHM 153,000] 743 I5 Ii5. BE. —RIFEINEE|ILE 5m [KE FRLAR
EERAT1384% 1:2 I HI S HE #T
(B)9- 2|l ErRET12—24] Tk 2.5km | ( 60, 200)
AR AR 120,000 119 [EE3] FUNMREBEO—RIFEENE | 5.2m[kE AR
RETE1THE565%14 1:1.2 Bl S\F EhiE i HR 1EE
(8) - 1|/EETE1—9—36 LS2 Tk 1.3km | ( 50, 80)
AR 107,000 203 [ [IF= FHEEO—BEEDLZLVE [JLFE 5m [KE AR
HRTET1122% 11 1:1 BIIHBFELRONDEE |hE 1thE
(8) - 2|I=#ifT5—21] W2 Hhig Tk 1km | ( 60, 200)
AR 113,000 95 F=E —BEENELIESEEH R 4m [KE HEER
RET4TH46%22 1.5:1 15 & HR 1hE
(8) - 3|IFEET4—3—63] W2 Tk 1.7km | ( 60, 200)
AREH 131,000 185 [EE3] FREO—RBEEMNZLD (I8 5m  [KE HE R
HEER4ATR79%F 744 1:2 EEEthig i HR 1hE
(8) - 4|THRBER4—14—8] W2 K 650m | ( 60, 200)
AREH 70,500] 130 [EE3] FUMEBO—REELES [FE 4m |[KE ®F
KFBEEFRMBEL386%F6 1.5:1 A S\ E i HE 1R
(B) -5 LS2 Tk 400m | ( 60, 200)
AR 90,000 139 [EE2 —REEZEHLIBEUSFE [ 4m  [KE JTha
KFFHFEHZI24F4 115 HED L MEERIS HE 1ER
(B) - 6 W2 Tk 470m | ( 60, 200)
ARt 118,000 116 [EE3] INBEO—RIEEETUYA [T 4m |KE AREH
EA21THE341%18 1.5:1 UHRTES Sl FAE HR 1thE
(B - 7[T&81—9-6. W2 TK 850m | ( 60, 200)
ARETH 86,000| 201 [EE3] FHRE—REENELLES [FHE 5.2m|kE I3
RFEFHFHF_EFHE11290%F75 1:1 XEEARELI-{EEHhE i HR 1EE
(B) - 8 W2 TK 2.1km | ( 50, 100)
AR 117,000| 165 [EE3] FHRE—REENDZLXE [fEfE 6m [KE AREH
* ARFEEITEHIE12 1:15 BRELI{EEHhE T HR 1E=E
(B -9 W2 Tk 1.8km | ( 50, 80)
AR 96,500 100 [EE3] IMNRBEFEBEEAERLIEA [JLE 45m|KE HEER
RFLERFILT554%28 1:1 ZBI DIE EHhIZ i HR 1hE
(&) - 10 W2 Tk 2km | ( 60, 200)
AR 81,800| 100 [EE3] INEEO—REEDZLE [BE 5.2m|kE AR
INSE3TH1216%25% 1:1.2 BloEEE FAE #£T
(8) - 11|[/NAEH3—6—44) W2 TK 2.5km | ( 60, 200)
AR 43500] 920 [EE3] BREE, —MBEE. EXFT|FmER 85m|kE HE#ER [T
RFLHBRFERI09E1 1:2 EM2<BBRONDE |
(8) - 12 W2 Eithig 2.7km | ( 60, 200)
AR 135,000 130 [EE3] —BEEENRONIXE |FEFE 6m [KE HEER
KFTERFAILSSSE20 1:1.5 BBIN - {EEHhiE RESHE [AX 2FE
(8) - 13| (RE#ERREA7—14) W2 Tk 1.1km | ( 60, 200)
AR 213,000] 113 [EHRE (PEBOEHFSHEFAELSE (B 16m |KkE ARETH
Z2@1THEH1073%45 1:2.5 |#FT NRONZERIEVEEN (183 HR GLES
(8)5- 1{I&m1—3—17] sS4 = K 290m | ( 80, 400)
A 62,500(10,015 Ii5 HIREOTIE, BEEAZLY [ 8m [KE AREH
RKEFLTRFIER108F 14 1:1.2 T (M HiE I=
(8)9- 1 K 4.2km | ( 60, 200)
RS EAE™H 140,000 104 [EE3] —RIEFEDEFEMNMT/A—F |[FEE 4m [KE HAE
HE1TH288%155 1:2 EHERET HEEHE HiE HR 1hE
(8) - 1|THE1—4—15] W2 TK 2km | (60, 200)
BiETH 271,000 165 [EE3] —BEE. T/S—FEHETE [dLFE 6m [KE HES
JE2TH2%16 1:1.2 9 5 EHhE E AR 1hE
(8]) - 2|TdkFE2—-5—12] W2 TK 600m | ( 60, 200)
Bl 263,000 100 F=E —EEDIFEMT/A—F |E  45m [KE BEs
=E3TH1468%54 1.2:1 MNRONDEEhis E AR 1hE
(8) - 3[T=F®3—20—7-3] W2 Tk 700m | ( 60, 200)
BiEETh 238,000 103 F=E —MREFE. TN—FEHNEE | 5m  [KE HE
* AE1 TH1752%9 1:2 T HEEHIE E HR 1hE
(8]) - 4|TRBT1—17—46] W2 TK 800m | ( 60, 200)
BAEET™H 203,000 117 FE —REEDENCEMEDN |FE 4m |[KE e
#A5TH1563%14 1:1.2 RohdEEis E 1hE
(8) - 5|IEBA5—4—-17] W2 TK 1.1km | ( 60, 200)
BAEET™H 176,000 177 FE —REFEDOPICERFEEN | 5m [KE S
REAE3TH647&S345 1:1.5 RohaEEig HE HA 1EE
(B) - 6[T#RFE3—2—38] LS2 Tk 1.3km | (60, 100)
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HEMES | REMORMAERVHBL VIS (HEho |HEHh | B | RE#ho |REMDOEDO TR A | B |HEmC [E#Emo | R
FEERT 1ERA |DHhiE | ORIK | FIADER|DJRR AIEER |2 LWTOK|B%EZD | HREEH
—kLE () i DI E.AR M O EE | FHEETE
=Y D AR R |S3EE | oftiEs
#% (A) VUTKED |FZEDE | DHIRT
BiE0RREDORR | EELD
1)
BEm 68,600 341 |&% |F=E FE.I5. BESNEET|(E Tm [|[KE BHEs (TR
RFLREARFRE117F 15 1:1.2 i Ethis T
(B) - 7 LS2 3.1km | ( 70, 200)
Bm 503,000/ 100 EHFES |PNMREOEHENELY R 12m (K& LB
AER1TE4%15 1.1 |%Er SERAT D 7 S Hhig T HR EEA);PY
(8)5- 1|[FERE1—2—48] S3 Tk sEHE | (80, 400)
BEm 111,000| 2,964 BEXE |[F/MEEIBEOEME [E 12m |KkE e
RITET2 TE 1557 %4+ 1.2 |%FEr ENRSNDT EHhi HE HZ I%
(8) 9- 1|IERiFRT2—12—-47] S2 Tk 2.3km | ( 60, 200)
BEAR mAT 180,000| 100 [EE3] INREO—REFENEDBN |JLFE 4m [KE B
AET2TH1685%12 1.2:1 SEEthig FhE HR 1thE
(8) - 1T KE[2—13—4] W2 Tk 1.8km | ( 60, 200)
F¥ N ] 148,000 115 F= —REEDFIMNIEFEEE |dLFE 4.2m|KiE BAR
hRfE1THEH843%S 1:1 EHRoNSEEHIE FAE HR 1hE
(8) - 2|l $RM1—13—28] W2 TK 2.6km | ( 60, 200)
EATH 204,000 96 [EE3] IMNRE—REEOERLES |FE 4m |[KE FiEA
R4 THA431%ES8 2:1 FEihig i AR 10hE
(8) - 3|Is=Mf14—28—2] W2 Tk 900m | ( 60, 200)
EAT 233,000 129 F=E —RIFEDORIZT/N—FD |E 5m [KE SN
* HET4A T H2682%7 1:1 RondiEEihis HiE HR 1HhE
(8]) - 4|T+4E74—8—40] W2 TK 1km | ( 60, 200)
EATH 143,000] 101 [EE3] —REEL/NMIBIENE |FE 6m [KE SN
+RE2THEH337&10 1:15 T3 5 E HR #£T
(8) - 5|l E5RE2—21—51] W2 TK 3.4km | ( 60, 200)
EATH 243,000 168 [EEHRIT (55, FEFRFDIZM—HE ||  16.8m[/KE SN
ABT1TH1593%3 1:2.5 |E FE.HXFAFELEONDE | £E H=R bk}
(8)5- 1| ABT1—1—11] w2 IR S this Tk 1.4km | ( 80, 200)
ik e 176,000 107 [EE3] —BEEDFNIT/NA—FE | 6m [KE e
* MAE2TH3394%16 1:1 MELNDEEHIE i HR 1hE
(8) - 1|TEHAE2—13—7] W2 K 1.3km | ( 60, 200)
Feth 185,000| 108 [EE3] —REEDIFEMN, T/A—FE|ILFE 5m [KE 53]
B1TH2465%8 1:1.2 MELNDEEHIE HiE HR 1hE
(8) - 2|lTE1—10—26] W2 K 2.2km | ( 60, 200)
Feth 193,000/ 100 [EE3] —REEDEMNCHEEE |FERE 48m|KE e
THASTHE1993F24+ 1:25 EHRoNSEEHIE HiE 1hE
(8) - 3| F#HE3—20—57] W2 Tk 1.4km | ( 60, 200)
Fyeth 197,000 116 [EE3] —RBEE. T/—FELHEDL |[dLE 4m [KE 53]
BF2THB1738% 14} 1:15 A S E i HiE AR 1R
(8]) - 4|[TBF2—5—26 W2 K 1.6km | ( 60, 200)
Mk 189,000] 102 F=E —fREE. 7/A—F DIE |dLE 42m|KE Mk
hk2TH4639%22 1:15 EHEET HEEHE i AR T
(8]) - 5|ThR2—6—25] LS2 Tk 1.4km | ( 60, 200)
FE e 353,000 259 [EEH3E (55, ERMENELESR |FH  15m [K&E e
AHET4452%6 1.2:1 |FEETRME |BRRkEihig E HR GLES
(8)5- 1|IRET17—2] £ RC4 TK 550m | ( 80, 400)
e HEETH 190,000] 158 [EE3] —REEODICEBENAR | 6m [KE HEE
FhIE5THE37%20 1.2:1 Y (Y ER=2 b E HR 1{E=
(8) - 1|I#HMIE5—12—26] W2 TK 700m | ( 50, 80)
HEET 149,000( 100 TE —REEDHICEEZENE [ 6m [KE HES
th1TH6082%27 1:15 SN DIEEHhiz i HR 1B
(8]) - 2|l4fif1—8—34 W3 K 3.2km | ( 60, 200)
HEET 246,000 100 [EE3] —REEDENHEEE |E 4m  [KE FSPN
#HI1 TH1415&345 1:1.2 ELRoNSEEHIE i H=R 1152
(&) - 3|IFEIk1—3—18] W3 TK 800m | ( 60, 200)
HEET 181,000/ 100 [EE3] —BEE. T/N—FELEDL | 55m [KE RKRZFE
#*5TH4899%23 1:1.2 A S E TiE HR 1B
(8) - 4[T®5—-12—11] W2 TK 3.5km | ( 60, 200)
FEET 160,000 104 FE —RREEENELIESIBAN |’ 4m  [KE A
FmE2TH1816%&75 1:1 DIEEHhIHK i HZR 1%
(8) - 5|IFEfE2—11—15] W2 TK 2km | ( 60, 100)
FEETH 134,000 132 FE —REEDENCEMEN | 53m [KE BEs
P2 TH5756%2 1:1.2 Ron b e iE HR 1%
(8]) - 6|MMAh2—13—161 W2 TK 4.4km | ( 50, 80)
FEETH 150,000 99 FE —REEDOELLESIBND |FE 6m  [KE ODIEY S
F#2THE1385%65 1:1.2 EEthig Hig HR B 1=
(8]) - 7|TR#2—9—5] W2 TK 2.5km | ( 60, 100)
FEET 153,000 102 FE —REEHIELUESSED (@A 6.2m|KE KRFE
* AlL2TH2834%&5 1:1.2 BREORLMEEHhE HE 1EE
(8) - 8|TAu2—11—16] W2 K 3.1km | ( 60, 100)
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HEMES | REMORMAERVHBL VIS (HEho |HEHh | B | RE#ho |REMDOEDO TR A | B |HEmC [E#Emo | R
FERERT 1ERA |DHhiE | ORIK | FIADER|DJRR AIEER |2 LWTOK|B%EZD | HREEH
—kLE () i DI E.AR M O EE | FHEETE
=Y D AR & |BXERE | DthiES
#% (A) VUTKED |FZEDE | DHIRT
BEQKR EORR | TBLE
1)
HEET 190,000 102 [EE3] INBE—REEDOHIZT  |E 42m [KE OIEY S

FHE5TH369F77 1.2:1 N—rELRRONBEEHIE | thE HR I 18

(B) - oflBpF5—-6—71 W2 Tk 1.3km | ( 60, 200)
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Summary

1 Nature of Services Required:

100
81

Moving of Saitama Institute of Public Health

100

30

10
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Contract is valid from the day the contract is signed until March 27,
2014 (Thurs).
2 Bid Explanation Meeting (optional)
Date: Friday, October 11, 2013
Time: Notice will be sent to those who wish to participate
Place: Saitama Institute of Public Health, 2d floor lecture hall
3 Bid Submission Period:
By electronic bidding system:
October 24, 2013 (Thurs) — 10:00 a.m., October 31, 2013 (Thurs)
By registered mail:
October 24, 2013 (Thurs) — 5:00 p.m., October 30, 2013 (Wed)
In person:
October 24, 2013 (Thurs) — 10:00 a.m., October 31, 2013 (Thurs)
4 Contact Information:
Saitama Institute of Public Health
639-1 Kamiokubo, Sakura-ku, Saitama-shi, Saitama-ken 338-0824
Tel 048-853-4995
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